Exam Code : AADHI_32 A”govern mentjobs_ frpm Date  : 01-06-2019
Version :16 Exam Time :09:00 - 10:30

Question No. 1
A loss of 25% is incurred in selling an item for Rs.2400. What should be the selling price if there should be a
profit of 25%?
A)Rs.4000 B)Rs.2700
C)Rs.3600 D)Rs.4200

T T F 2400 F dud W 25% Hr gifr @il g1 25% HT W Wod wA F AU @7 qew = gar
IfRT?

A)F.4000 B)%.2700
C)%.3600 D)%.4200
Answer Key : A Your Response : A (Correct)

Question No. 2
Plants that grow in the absence of sunlight in water are called-
A)Algae B)Shrubs
C)AIl of the options D)Fungi

arelt F I F TR F AT H I arer Gl BT FEr Ser g2

A)Srarer B)&[9 & el (Shrubs)
C)asedt & & Tl D)&ds
Answer Key : D Your Response : C (Wrong)

Question No. 3

If CAT + DOG = 50, then BAT + HEN = ?
A)50 B)25
C)30 D)40

gfg CAT + DOG = 50 &, df BAT + HEN = ?

A)50 B)25
C)30 D)40
Answer Key : A Your Response : A (Correct)

Question No. 4
Two numbers are in the ratio 1 : 4 and their LCM and HCF are 84 and 21. Find the smaller number.
A)18 B)84
C)108 D)21

ar §Ea¢ 1 : 4 & oA F § 3R 39F THA(LCM) 3R AHFA(HCF), 84 3R 21 & & H&ar A Al
A)18 B)84

©)108 AIIgovernmgh?t]obs.in Top

Answer Key : D Your Response : Not Answered



Question No. 5

has been awarded WithArlRﬁW@ﬁMH@ﬁMW in 2019.

A)Anilkumar Manibhai Naik B)Manoj Bajpayee

C)Darshan Lal Jain D)Nanaji Deshmukh

2019 # 9T fARqEOT QAR & wHAAd fohar I g

A) JTATEHHAR AOTS Ardh B)#AAST SToTaY

C)geld arel et D)t SR

Answer Key : A Your Response : B (Wrong)

Question No. 6
Who among the following was the youngest batsman to score 10,000 test runs, breaking the record
previously held by Sachin Tendulkar?
A)Ricky Ponting B)Rahul Dravid
C)Kumar Sangakkara D)Alastair Cook

ffaf@d # & Fi, 9w dgee & Roer RFE disd gu 10000 &€ & AW el Fad FA 36 FH
Tooldrsl Ur?

AR Tifear B)Ige afas
C)FHAR HIAMHRT D)ufeee Fh
Answer Key : D Your Response : D (Correct)

Question No. 7
An inlet pipe will fill a tank in 10 minutes. There are two outlets that can empty the tank separately in 12 and
15 minutes respectively. If all the pipes are opened and water starts filling up the tank, in what time will the
tank get filled or emptied?
A)Emptied in 20 minutes B)Emptied in 18 minutes
C)Filled in 75 minutes D)Filled in 36 minutes

T Soolc U189 U & @ 10 Asde & s &9m| &F & o 3n3cae &, I A9r-3re9r Haer: 12 AR 15 Aae 7
&F F Wl N FFha g1 I W arsat A W r Srer ¥ AR EF F gl aRew g & S &, o & frae
AT # QU $T AT AT QT Tk g SAM?

A)20 s #H d@relr g e B)18 f&sic & @relr g e
C)75 fAsic & X STwem D)36 fAsic # #X e
Answer Key : A Your Response : A (Correct)

Question No. 8
If 2x + y = 35 and 3x + 4y = 65, find the value of x/y.
A)3 B)9
C)yr D)5

e 2x + y = 35 31K 3x + 4y = 65 @, @ xy T A A PAT

A)3 B)9
C)7 D)5
Answer Key : A Your Response : A (Correct)

Question No. 9

Simplify: Sin(30° - A) + Sin(30° + A) Allgovernmentjobs.in Top



A)sin A B)2 sin A
C)2 cos A Allgovernmé&rfdbs.in

WA HRAT sin(30° - A) + sin(30° + A)

A)sin A B)2 sin A
C)2 cos A D)cos A
Answer Key : D Your Response : B (Wrong)

Question No. 10

What is the work done in moving a unit positive charge from infinity to that point, at that point?

A)Charge B)Current

C)Electric potential D)Resistance

T $H1S YeAlcHsh AT H 3eid § U &g T TR 1 & fhar &, 50 g | F T
A #l

A)3TTaer B)&mr

C)fega fasra D)wferrer

Answer Key : C Your Response : Not Answered

Question No. 11
Why does a nail have a pointed tip?
A)The force acting on a smaller area exerts a smallerB)The force acting on a larger area exerts a zero
pressure pressure
C)The force acting on a smaller area exerts a largerD)The force acting on a larger area exerts a larger

pressure pressure

$rer i Arm THeN 4t gl &2

A)IUETHd BIC &1 W ol dlell §of HH &1 STeldIB)3UeTIehd &3 &1 WX o9l alell §of e &ld STelell ¢
gl

C)319&TIhc BIC &1 W e dlell oef, 3T &ld STeldTD)3IEThd 93 &1 W odlel drell §of ek ard Srefcll
gl gl

Answer Key : C Your Response : C (Correct)

Question No. 12
The element, tellurium is a-
A)Metal B)Both metal and metalloid
C)Non-metal D)Metalloid

TRIA THF dd T gl

AT B)erq 3R 3uurqg gt
C)3rg D)39erq
Answer Key : D Your Response : C (Wrong)

Question No. 13

Complete the series.

2,3,6,18, (...)

A)46 Allgovernmg%’gobs.in Top



C)108 D)96
Allgovernmentjobs.in

Soft @ H

2, 3,6, 18, (...)

A)46 B)64

C)108 D)96

Answer Key : C Your Response : Not Answered

Question No. 14
In a certain code, 15789 is written as 'XTZAL' and 2346 is written as 'NPSU'. How is 23549 written in that
code?
A)NPZTX B)NPTSL
C)NPSUL D)NPLUS

T AT Feomr #, 15789 Fr 'XTZAL' fa@r Sirar § 3R 2346 I 'NPSU' fo@r Sirar g1 3 fesmr #
23549 Fr F forar sean?

A)NPZTX B)NPTSL
C)NPSUL D)NPLUS
Answer Key : B Your Response : B (Correct)

Question No. 15
Which of the following is the number of oscillations per unit time of the sound wave?
A)Wavelength B)Time period
C)Amplitude D)Frequency

Afef@a & ¥ Fla a1 Rl @ R ot & 9 s T 7 fve 9w Qe Fr e 2

AT Eed B) 3TadehTer
C)3marsH D)3gfead
Answer Key : D Your Response : D (Correct)

Question No. 16

Who was the first woman ruler of Delhi?

A)Chand Bibi B)Rani Roopmati
C)Manikarnika D)Razia Sultana

e $r ggelr ARRer arEsF FiT A2

A)die der B) &l FOHA

C)#TOTehfOTeRT D)Ifear godrer

Answer Key : D Your Response : D (Correct)

Question No. 17
A train 125 m long passes a man, running at 5 km/hr in the same direction in which the train is going, in 10
seconds. What is the speed of the train?
A)55 km/h B)54 km/h

C)50 km/h D)45 km/h
Allgovernmentjobs.in Top



125 #r &Y U (S U cafad @, S o Fr fem F 5 fFei/Eer fr arear & ST W@ g, 10 Y3 A g A

§1 & Fr e e 7 Allgovernmentjobs.in

A)55 TeRsft/eer B)54 farst/ger

C)50 ferafi/aer D)45 frai/aer

Answer Key : C Your Response : Not Answered

Question No. 18
The difference between the Simple Interest on some principal at 8% for 8 months and 6% for 14 months is
Rs.200. What is the principal?
A)Rs.12000 B)Rs.24000
C)Rs.14400 D)Rs.12800

el HeTeeT W 8% Hr X & 8 FEA 3R 6% Hr T F 14 FEGT F WUROT AT F T F HeW $.200 B

AU A AT
A)%.12000 B)%.24000
C)%.14400 D)%.12800
Answer Key : A Your Response : A (Correct)
Question No. 19
S 1
Evaluate: 450f —+1=+3 of =-10
5 7 3
A) B)
10 14
)] D)
15 12

, 9
gl Fi: 45of §+15+3 of %-10
5

i

10 14

15 12

Answer Key : D AI Igovern mentJOb%'JrQesponse : D (Correct) Top



Question No. 20
The population of a town increased byﬂﬂwmg}{ﬂesgﬁﬂssive years, but decreased by 25% in the
third year. Find the ratio of the population in the third year and the population 3 years back.
A)1 1 B)99 : 100
C)100:99 D)2 :1

Wamﬁrmvfrmwaaﬁﬁw%mm%aﬁrqﬁg?,ﬁﬁmaﬁﬁwﬁzs%aﬁrmgl
A 9§ F SerEear AR 3 a¥ g it SEEr F EuE A« A

A1 1 B)99 : 100
C)100 : 99 D)2 : 1
Answer Key : B Your Response : C (Wrong)

Question No. 21
If 3*4 =21 ; 4*5 = 36 ; 5*6 = 55, then find 6*7.
A)91 B)67
C)42 D)78

g 3+4 = 21 ; 4«5 = 36 ; 5«6 = 55 §, dr 6x7 & AT AT FfaU]

A)91 B)67
C)42 D)78
Answer Key : D Your Response : D (Correct)

Question No. 22

The is the first citizen of India.

A)President B)Member of Legislative Assembly
C)Prime Minister D)Vice-President

__ 9Rd & 9ge dARIRE e gl

A)Irsgafa B)fawner @ & derT (faurae)
C)ueraT #HAr D)3uRrsgafe

Answer Key : A Your Response : A (Correct)

Question No. 23
What is the probability of getting a sum 10, when a die is rolled twice?
A)3 B)5/36
C)1/12 D)1/36

R 9 & aF aR %% S 9T 3T a1 3t T ART 10 g Hr wilksar A fifew)

A)3 B)5/36
C)1/12 D)1/36
Answer Key : C Your Response : C (Correct)

Question No. 24

The book ,“No Spin”, is an autobiography of-

A)Muttiah Muralitharan B)Anil Kumble
C)Shane Warne D)Bishan Singh Bedi
Allgovernmentjobs.in Top
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AT TR B)3ifeter el
C) atet Allgovernm@itiEb & ™

Answer Key : C Your Response : B (Wrong)

Question No. 25

The length of the direct common tangent to two eircles of radii ry

and r; and d is the distance between their centres is:

Lo

d*(rx,) d®-(x, +1,)

de-(rlergg) d*-(1;-1,)°

B=ar v, 3R v, a3 AT & Hear A ST H gl d § 3T Al
AT T @13 H TFEE AT R

A) B)
d” (rr) d’-(x, +1,)°
C) D)
9 9 o 2 2
d‘-(rl‘rg‘) d”-(r-1)
Answer Key : D Your Response : Not Answered

Question No. 26
Which hormone promotes RBC production in the bone marrow?
A)Cholecystokinin B)Serotonin
C)Somatostatin D)Erythropoietin

#er Ao # HAleg #leT @1 gHAT RBC 391G &1 9gmaT &l 872

A)Frefaeeias iaeT B) fRRieifelet
C)aFeIEe e D)TRYdISeT
Answer Key : D Your Response : D (Correct)

Question No. 27

Which of the following material has a shiny appearance?

A)Aluminium AllgovernmE&nijbe.in
C)Coal D)Carbon

Top



famfaf@a F & Fia ar wry,

AT Aﬁgrﬁﬁm%pﬁ%@s.in

C)dIger D)&FIaeT
Answer Key : A Your Response : B (Wrong)

Question No. 28

Which word will best complete the relationship given below?
Physician : Treatment :: Judge : ?

A)Court B)Lawyer
C)Arrest D)Judgement

FleT A g AR RE T Faer Hr T AF ¥ qOF FWM?

RfFcas : 3ER ;ST ?

A) IR B)ahrer
C)ARwaR &aTr D)favTr &ar
Answer Key : D Your Response : D (Correct)

Question No. 29

In this question, a statement is given followed by four conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Ability is poor man's wealth.

Conclusions:

I. A poor man can earn wealth if he has ability.

Il. A wealthy man is always able.

lll. A poor man is always able.

IV. A poor man has the ability to earn wealth.

A)Only conclusion 11l follows B)Only conclusion Il follows

C)Only conclusion IV follows D)Only conclusion | follows

Allgovernmentjobs.in Top



3 W H, TF FY AR 38F A IR s R aw §1 37 rwd(sh) A 9o S afe w7 & w9 39
&l Allgovernmentjobs.in

hYeT:

&THaT 0T NS FT T B

G- P
. TT AfFT & I &HT § A 98 9T AT P FehaTl B

Il eelr Safda g Wt giar g1

ll. s ST gA FETAH e Bl

IV. 79 AFT F I &4 FAR A &HATT g B

A)aad sy |l 3ugFa gl B)&ae ey Il 39ged &
C)dae faswy IV 3ugea gl D)dae fashy | 3uged Bl
Answer Key : D Your Response : D (Correct)

Question No. 30
On which of the following principle does the human eye work?
A)Dispersion of light B)Reflection of light
C)Refraction of light D)Scattering of light

AT N @ T 7 ¥ F9 AT | FH w82

A)veTer & gRkergor B)WehTl & URTdcleT
C)UahIel & 3qadel D)YehTl & Fehrolel
Answer Key : C Your Response : C (Correct)

Question No. 31

Read the following information carefully and answer the question given below.

Seven members A, B, C, D, E, F and G represent different countries in Olympics, USA, China, Korea, France,
Russia, Australia and Japan; each one competes for a different sport, viz. volleyball, archery, rifle shooting,
tennis, boxing, athletics and football. The order of persons, countries and games is not necessarily the same.
C represents China for archery. D represents USA but not for volleyball or rifle shooting. One who represents
Japan competes for boxing. E competes for volleyball but not Korea. A represents Australia for athletics. The
one who represents Russia competes for tennis. F does not represent Korea or Japan. G competes for rifle
shooting.

Which of the following countries is represented by E?

A)Korea B)France
C)Japan D)Russia

Allgovernmentjobs.in Top



fAFfaf@d Sl e @ 9¢ 3R A o a1 9o &1 3o &)

Allgovernmentjobs.in
W WG A, B, C, D, E, F 3R G 36ifdF # 3rerer srerer ait - quaw, diw, Ffan, wiw, &6, sifeefoar
IR I w1 vt W § ¥ TRF  F e A AW i, dRaen, Tgee i, A,
FFpareh, Taftdd AR Pealer ¥ fear A §1 wewd, &Rt 3R Fet 7 T S e g S e P |
C dRerett & faw e # gfafafca svar 81 D Jua & wfafafcs war § Afder aiesiar ar Uswa feer &
faw gl o S # sfefRfe FXar § 95 AFraet & Rew dar ¥ E afdela § e dar § afea
PRI F AT 781 A wyafesw F Qv e o g war &1 s &7 &1 sfaRftcg wwar § a8
fw I REar Aar 81 F |IRar ar s & wfafaftes a6t wwar 81 G aswer feer 3 Rear o g

E, mfaf@a & & fra e @ yfafaftes aar 82

INEaies B) Wi
C)SmareT D)ysg
Answer Key : B Your Response : B (Correct)

Question No. 32
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some glasses are spoons.
2) All spoons are jugs.

Conclusions:

I. All jugs are glasses.

Il. Some spoons are jugs.

A)Only conclusion | follows B)Neither conclusion | nor Il follows

C)Only conclusion Il follows D)Both conclusions | and Il follow

39 W #, & YA F 15 o sy e arw §1 3w w3 A ¥ S afder w7 § 9@ 39w &

hY:
1) F& More w7 §
2) wefr g ST

IGAC2 R
. g3 Srer e &

Il. F& TFAT ST g

A)Fad fasy | 3uged B B)aT o farseh | =1 &1 |l 39gerd g
C)dae fasewy Il 3uged Bl D)erst fsehy | 3R 11 3uged g
Answer Key : C Your Response : C (Correct)

Question No. 33

With which of the following has IIW@Wgwnmg?ﬁj%grirﬁdvanced research in 5G and artiﬁc:iaolp

intelligence?



A)TCS B)Microsoft
C)Amazon Aligovernmé&mfeBs.in

5G AR FA FRFcT # 3=1q IegEUE F AT IT- @R 7 Ffaf@a F & fras g aEedr #r 32

A)TCS B) ATSSHIETT
C)3aate D)ot
Answer Key : D Your Response : B (Wrong)

Question No. 34

Night blindness is caused by deficiency of-

A)Vitamin D B)Vitamin C

C)Vitamin A D)Vitamin B

Telfer er & FH F FROT ger B

A)ferfdeT D B)faerf@e C

C)faerfaa A D)facrf@s B

Answer Key : C Your Response : C (Correct)

Question No. 35
Find the least perfect cube divisible by 2, 3, 4 and 6.
A)512 B)1728
C)216 D)360

g% BI ¥ BI QU7 g W& A AT, S 2, 3, 4 3R 6 F qUiaAr RIrsT @

A)512 B)1728
C)216 D)360
Answer Key : C Your Response : C (Correct)

Question No. 36
The difference between two integers is 5 and their product is 500. Find the numbers.
A)30, 25 B)15, 20
C)25, 20 D)21, 26

ar gofiel % i &7 3T 5 § 3R 3 Iuahe 500 Bl HEAT AT AT

A)30, 25 B)15, 20
C)25, 20 D)21, 26
Answer Key : C Your Response : C (Correct)

Question No. 37
What is the present position of India on the 2019 World Press Freedom Index (RSF)?
A)180 B)120
C)136 D)140

g 99 Facaar §@&HiF 2019 (RSF) # SR qone 7 fFe ¥Ie W §7

A)180 B)120
C)136 D)140
Answer Key : D AI Igovern mentj dﬂgrfﬁsponse : Not Answered

Question No. 38



The chemical process by which glucose is broken down anaerobically is known as-

A)Sublimation AllgovernméEmjtiisn

C)Fermentation D)Sintering

aF THRIE iR, % @ s@is # 3ARE ¥ ST AT §, Fgerch Bl
A) FEaqrd=T(Sublimation) B)3maa(Distillation)
C)f&uasi(Fermentation) D)fdresT (Sintering)

Answer Key : C Your Response : D (Wrong)

Question No. 39
What is the Sun and the celestial bodies revolving around it called as?
A)Galaxy B)Milky way

C)Constellation D)Solar system

& AR s8% IRt 3R TFR T e e RISt A T FEr A 82

A) 3THRTERET B)ffAcaT a
C)dRTHz D)aERAS
Answer Key : D Your Response : B (Wrong)

Question No. 40

National Bamboo Mission is a sponsored scheme of Ministry of-

A)Chemicals and fertilizers B)Environment, Forests and Climate Change
C)Water Resources D)Agriculture and farmers welfare

T 919 e Farew fr yrafea deer 2

AT T 38H B)uaifaiT, @l e Siefary IRl

C)STel |aTYeT HIATT D)&™ vd fandreT sHoaror

Answer Key : D Your Response : D (Correct)

Question No. 41

Which colour among the seven colours of white light gets least deviated after dispersion of light through a

glass prism?
A)Red B)Indigo
C)Orange D)Violet

QT THRT & W Wi 7 ¥ FleT W FiT F VA @RI THT & IRAYOT & 1 & FA =i gar 82

A) el B)sirer
C)=rgaf D)darsr
Answer Key : A Your Response : A (Correct)

Question No. 42

Allgovernmentjobs.in Top



Choose from the alternatives the fipure that best completes the

pattern given below. Allgovernmentjobs.in
?
A) % B)
0) D)

T av Reedt 7 ¥ a7 3ol g4, I & Re av ded @ Q@ e

gl
?
A) % B)
C) D)
Answer Key : C Your Response : C (Correct)

Question No. 43
Area of a square field is 24200 m2. How long will it take for a person to cross the field diagonally at the rate of
4.4 km/h?
A)2.5 minutes B)2 minutes
C)4 minutes D)3 minutes

T PR Td H &T6d 24200 Fo7 Hex §1 4.4 Frdfder fr a0 § g W Fr g # s0 [T )
o # e 9AT FRem?

A)2.5 e B)2 &

C)4 fAsie D)3 fAec

Answer Key : D . Your Response : A (Wrong)
Allgovernmentjobs.in Top

Question No. 44



Which machine part is used to reduce friction between hubs and axles of ceiling fans and in bicycles?

A)Springs Aligovernmé&tijbB¥ifos
C)Bolts D)Nuts

Hfeler de7 AR wsfrer & g9 3R g F g ador = Fa7 F& F AT g Ffer gof &1 39T fFar ST 872

A)fegar B)aTer SfaT
C)see D)ae
Answer Key : B Your Response : B (Correct)

Question No. 45

The chemical formula of gypsum is-

A)CaS04 .3H0 B)Na,C0O3.8H,0
C)NazCO3.10H,0 D)CaSO, .2H,0

foews &1 Tarfas g7 = §?

A)CaS0O,4 .3H0 B)NayC0O3.8H,0
C)NaxC0O3.10H,0 D)CaS0O4 .2H,0

Answer Key : D Your Response : D (Correct)

Question No. 46

If '+' means -, -' means 'x', 'x' means '+, and '+' means '+'then 15x3+15+5-2=7°
A)6 B)10
C)20 D)5

g '+ & Adew N §, Y I AGET X' §, X Aqew '+, AR AT AGET H R, @ 15x 3+ 15+ 5-2
=?

A)6 B)10
C)20 D)5
Answer Key : B Your Response : B (Correct)

Question No. 47

Which word will best complete the relationship given below?

Bacteria : Decomposition :: Yeast : ?
A)Eruption B)Injection
C)Fermentation D)Conservation

T W7 Ueq A RT AT G A GG Al ¥ ot M

Sharoy : fREed : @HR : ?

A)TEpeA SESESC
C)fruae D)&R&ToT
Answer Key : C Your Response : C (Correct)

Question No. 48

Ages of two brothers differ by 7 and are in the ratio 3 : 2. What is the sum of their ages?
A)21 Allgovern mg%obs.ln Top



C)45 D)35

Allgovernmentjobs.in
ar st Y I FT HR 7 ¥ AR HArT 3: 2 ¥ 3R Y F AT AT RS

A)21 B)42
C)45 D)35
Answer Key : D Your Response : D (Correct)

Question No. 49
If the image formed by a spherical mirror is virtual, then the magnification value is-
A)Negative B)Zero
C)Positive D)Infinity

e v el gdor garr AT afafsis smemdr §, o 3made @1 A9 w9 Aifawl

A)ROTIcHS B)eH
C)u=TcHs D)37eid
Answer Key : C Your Response : C (Correct)

Question No. 50
Vignesh puts a watch on a table in such a way that it reads 9:15 a.m. Hour hand points to the south direction.
Which direction does the minute hand face?
A)East B)South
C)North D)West

Ao v AT W oF U A FO 39 Re W ¢ & Fag F 9:15 & AT 6 arelr g§ affior faw i W
T ol 81 fere arolr g8 frw R 31 872

A)gd B)gfaror
C)3cR D)ufRas
Answer Key : C Your Response : D (Wrong)

Question No. 51

Vitamin B1 is also called as-

A)Biotin B)Ascorbic acid

C)Thiamine D)Niacin

ferfder B1 #t #r heT ST 8

INEIR TG B)UEehitaeh TS

C)frnfAe D) feanfast

Answer Key : C Your Response : A (Wrong)

Question No. 52

Allgovernmentjobs.in Top



In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best

fit(s) logically. Allgovernmentjobs.in

Statements:
1) All trees are flowers.
2) All flowers are grasses.

Conclusions:

I. All trees are grasses.

Il. Some flowers are grasses.

A)Either conclusion | or Il follows B)Only conclusion Il follows

C)Both conclusions | and Il follow D)Only conclusion | follows

39 W #, ) FYA F 15 o fasnd Re o 1 37 ey (3h) A ¥ S afw w7 § 9@ 39T @

SYeT:
1) @t 93 oo 1

2) w3t gt u F

IGAC2 R
. @efr 93 =1 E

Il. & G o &
Ayar ar fFsey | ar ar i 3ugeEd Bl B)Fae Ty Il 39ged &
C)alat fseny | 3R 1l 3ugerd gl D)dder sy | 39ged gl

Answer Key : C Your Response : C (Correct)

Question No. 53
In the game of chess, which animal does a rook represent?
A)Elephant B)Horse
C)Camel D)Goat

IR & VA #, ' 5 I &1 yfafAfca w=ar &2

A)gTY B)dlsT
C)3e D)ah{r
Answer Key : A Your Response : A (Correct)

Question No. 54
Find the volume of a sphere whose surface area is 1386 m2.
A)4651 m?® B)4851 m®
C)3850 m? D)5711 m?

39 NS H AT AT Hifoe, ST &awe 1386 #Hrex? g
A)4651 FieT3 Ilgovernmgp‘tégp% Top



C)3850 #Hrexd
Answer Key : B

D)5711 #Hrex3
AllgovernmentjoBsTfgponse : Not Answered

Question No. 55

Choose the alternative that best replaces the question mark(?) in the

given figure.

c
)49

B)

D)

61

38 T & 799 ®, A NPT H goF Bed (?) F WE W

e % forw wafcasm s9gaa &l

c
)49

Answer Key : A

AIDS virus destroys the body's-
A)Red blood corpuscles
C)Liver

AIDS T oy el

A)ITeT TF HOTRIAT
Cyaga
Answer Key : D

D)

61

Your Response : Not Answered

Question No. 56

B)Circulatory system
D)Immune system

Y AT FT & B
B)gR&=ROT dF
Allgovernme@ivistis dm

Your Response : D (Correct)

Top



Question No. 57

Which of the following is an example OfRn&lW@Fﬁ?ﬁentjobS.in
A)Head lice B)Body lice

C)Ticks D)Tape worm

Tfaf@d & ¥ FiT AT 3HT:9GNdT FT TFH 3BT 87

AR & 5 B)ardR &
C)fetatr (Ticks) D)®rcireh e
Answer Key : D Your Response : D (Correct)

Question No. 58
What is the full form of FERA?

A)Foreign Export Revaluation Act B)Finance and Export Regulation Association
C)Foreign Exchange Regulation Act D)Funds Exchange Resources Act

FERA & Q0T &9 &7 §?

A)BIRA TFHAE RdeguerE Tee B)WTS+id US TFHUIE eIl THITHTI
C) IRl TSl el Tae D)hgd TeradeT RERfsT Tee
Answer Key : C Your Response : C (Correct)

Question No. 59
In which Constitutional Amendment Act were the seats of Lok Sabha increased from 525 to 545?
A)25th Constitutional Amendment Act, 1971 B)21st Constitutional Amendment Act, 1967
C)31st Constitutional Amendment Act, 1973 D)24th Constitutional Amendment Act, 1971

e dfaursT weeer sfafas grr, disasr @ @ict fr d@ar 525 & T 545 Hr aE?

A)25d gfaeme @enee ifafaas, 1971 B)21d Tfaursr @ee= Az, 1967
C)31d dfaurT @eeeT Jfafaga, 1973 D)24d Tfayrer @eiee fafags, 1971
Answer Key : C Your Response : C (Correct)

Question No. 60
A man walks 3 km towards west and walks 2 km to south. Again he turns east and walks for 0.5 km. How far
is he from the starting point?
A)2.5 km B)3.2 km
C)2 km D)3 km

T TeHr qRRae #r 3R 3 Rl Taar AR gf@or A 3Rk 2 el gaar 31 AR & a8 gF i 3R gar 7 AR
0.5 frel e TelT &1 9% YR fig & fhdei oY 87

A)2.5 TreY B)3.2 fFaT
C)2 frer D)3 Rl
Answer Key : B Your Response : B (Correct)

Question No. 61

Choose the figure that best represents the relationship among the
classes given below.

Truck, Ship, Goods
Allgovernmentjobs.in Top



A) _ _ B)

Allgovernmentjobs.in
9o v

o

C) D)

3 HFE F 94T H, A HeAfrad S F 9 & gEw #7
Tafeas &1 @ fAwRg Far
geh, g, HATel
A) . _ B)
@
b -//
C) - D)
Answer Key : D Your Response : C (Wrong)

Question No. 62

Calcium hydroxide, reacts with carbon dioxide to produce-

A)Both salt and water B)Salt

C)Metal D)Water

FIIA gIssiSs, FIeeT SBIHFAES F T AATRAT T 3ol T B
A)SGUT TG STl aler B)ergoT

C)urq D)ster

Answer Key : A Your Response : A (Correct)

Question No. 63

The number of protons in an atom of an element is equal to its-

A)Electron affinity B)Atomic weight

C)Atomic number D)Equivalent weight

frelt aea & WA F ekt fr FEw s & S gl 2

A)gAFEIe Tyl B) TRATI] 81X

C)URAT] i D)dedishr 8RR

Answer Key : C Your Response : B (Wrong)

Question No. 64 ]
Allgovernmentjobs.in Top



Eighteen men can complete a piece of work in 64 days. 9 women can complete it in 108 days, whereas 7
children can finish it in 216 days. Ho%"@mmgﬁﬂm:m women and 21 children together take to
complete the same work?

A)27 B)45

C)42 D)32

18 o8 Ry W # 64 Rt & qur # wha §1 9 AR, s¥ 108 R&t & qu F= whch &, F@fF 7 "=,
3 216 et & qU FT Thd §1 16 To§t, 9 Afemsi 3R 21 et Fr v T Aol $0 FH B QW FA A
e foer erdar?

A)27 B)45
C)42 D)32
Answer Key : A Your Response : Not Answered

Question No. 65

Atoms of the same element or of different elements can join together to form-

A)Elements B)Molecules

C)lons D)Alloys

T @ dcd AT -3 dedl F WA Tk T Ao el hd &
A)deca B)311

C)3mget D)fAsrend

Answer Key : B Your Response : B (Correct)

Question No. 66
Five years ago, ratio of ages of P and Q was 7 : 9. Ten years hence, this ratio would become 5 : 6. What is
the ratio at present?
A)2:1 B)4:5
C)h5:4 D)6 :7

g ¥ g, P 3R Q T Y FT I 7: 9 ATl §F a9 §1G, Ig IHe[Urdd 5: 6 & S| qAAT F I 3

& A A e

A)2 : 1 B)4 : 5

C)5:4 D)6 : 7

Answer Key : B Your Response : Not Answered

Question No. 67
Which of the following fossil fuels has butane as its main constituent?
A)LPG B)Natural gas
C)Coal D)Fuel oil

feafaf@a & & fra Shana $usr & sqeaT sqeT H{ET acF ar 82

A)LPG B)wrehfceh 3T
C)ahIIerr D)EYT ae
Answer Key : A Your Response : A (Correct)

Question No. 68

Fullerene consists of ﬁarbon atoms. bs.i
A)32 A governm%%o s.in Top




C)60 D)4
Allgovernmentjobs.in

Torer FTeeT GLAT Bl B

A)32 B)48

C)60 D)4

Answer Key : C

Your Response : D (Wrong)

Question No. 69

Tank 'A' is two-fifths full. Pipe P can fill it in 10 minutes while pipe Q can empty it in 6 minutes. In what time
will the tank get empty, if both P and Q are opened?

A)7 minutes

C)6 minutes

B)6.5 minutes
D)5.5 minutes

&F 'A' FT 2/5a7 REET 9 F ST & 9B9 P, 38 10 AT #F HT Tt & S9fF 93T Q, 5§ 6 RAee #F @
N gaar gl I P 3R Q, Q=T A v Ay @ & se, af & fhae @@y 7 @l @ seen?

A)7 fAae
C)6 fee
Answer Key : C

Ethanoic acid is commonly called-
A)Sulphonic acid
C)Hydrochloric acid

B)6.5 fasle
D)5.5 f&ee

Your Response : C (Correct)

Question No. 70

B)Sulphuric acid
D)Acetic acid

AIgF RS F FHATIT: FAT Fgl SIam &7

A)Tchifas tfas
C)gsaiaailieh TS

Answer Key : D

Elon Musk is the founder of-
A)Orbital Sciences Corporation
C)Space X

A)3ffdee AEd AR
C)yead X

Answer Key : C

B)#ewrgReh Uil
D)tfafes tfds

Your Response : D (Correct)

Question No. 71

B)Virgin Galactic
D)Boeing

B)afaieT e
D)arga

Your Response : Not Answered

Question No. 72

Find the missing number in the following series.

256, 128, 64, 32, (...), 8
A)12
C)16

B)14
D)10

Allgovernmentjobs.in
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fArfaf@d Jofr & eufeya dear a9 fifsw
Allgovernmentjobs.in

256, 128, 64, 32, (.), 8

A)12 B)14
C)16 D)10
Answer Key : C Your Response : C (Correct)

Question No. 73

Choose from the alternatives the figure that best completes the

pattern given below.

A A

C) D)

for v fRwedt & @ 37 angfa 94, A A9 R v deF # qu e
&l

?
A) B)
A A\
C) D)
Answer Key : B Your Response : B (Correct)

Question No. 74

Allgovernmentjobs.in
Simplify: 0.05 x 0.002 9 J
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A)0.0001 B)0.01
C)0.001 Allgovernmé&ftjobs.in

o ffSw: 0.05 x 0.002

A)0.0001 B)0.01
C)0.001 D)0.1
Answer Key : A Your Response : A (Correct)

Question No. 75
The longest river of peninsular India is-
A)Mahanadi B) Tapti
C)Narmada D)Godavari

TR SR T T ot S gl

A) HETeTEr B)dreedr
C)a#er D)aneradr
Answer Key : D Your Response : A (Wrong)

Question No. 76
Which of the following nerves is responsible for the sense of taste?
A)Olfactory nerve B)Optic nerve
C)Glossopharyngeal nerve D)Trochlear nerve

W A WEA F fav @ & & i @ diF screr gdr 82

A)gToT df3eT (Olfactory nerve) B)3ifftear df¥ar (Optic nerve)

C)earad=it dfenr D)dashe df3er (Trochlear nerve)
(Glossopharyngeal nerve)

Answer Key : C Your Response : A (Wrong)

Question No. 77
If only the measures of the diagonals are given, which of these quadrilateral can be constructed?
1) Square 2) Rectangle 3) Rhombus
A)1 and 2 B)1 only
C)3 only D)1 and 3

e e Rwoil F a9 e af g, o s & fra aqesr # et B ST oawar 82
1) @@ 2) 3T 3) FHAAGHS

A)1 3k 2 B)¥ae 1
C)¥ae 3 D)1 3k 3
Answer Key : D Your Response : A (Wrong)

Question No. 78
When the number of atoms of each element is the same on both sides of the equation, it is a/an-
A)Balanced equation B)Mixed equation

C)Skeletal equation D)Unbalanced equation

v Rl w3 At 3R ST T |y STBTERH 8 TGOh TR on & & 7§
A)Edfard Tt B) e aefeor

Fgelrar %p



C)Theed FHIHOT D)3radferd HteRor
Answer Key : A AI Igove rnme ntj 0 bga.tlﬁesponse : A (Correct)

Question No. 79
The curved surface areas of two cones are in the ratio 2 : 1; their slant heights are in the ratio 1 : 2. What is
the ratio of their radii?
A)1:3 B)4 :1
C)1:4 D)1:1

ar % & g5 Jeof & XAl H AU 2: 1 §; A foden 391§ 1: 2 F IHepuray & §) 3R BAr 1 requra
BICIETIE LY

A)1: 3 B)4 : 1
C)1: 4 D)1 : 1
Answer Key : B Your Response : D (Wrong)

Question No. 80

On which of the following river banks is Jammu situated?

A)Mahanadi B)Tungabhadra

C)Rapti D)Tawi

] 5o @ R Al & ae W Rua ¥

A)FGTIET B) arerer

C)ree D)adr

Answer Key : D Your Response : D (Correct)

Question No. 81
A cycle bought at Rs.1400 is sold at a loss of 15%. What is the selling price?
A)Rs.1385 B)Rs.1290
C)Rs.1090 D)Rs.1190

¥.1400 # @I 7§ vw ARRFA F 15% 6 g W 31 Jew ¥ BFw qew A fifvw

A)%.1385 B)%.1290
C)%.1090 D)%.1190
Answer Key : D Your Response : D (Correct)

Question No. 82

Find the ODD one out from the given options.

A)Volleyball B)Baseball

C)Football D)Chess

R v Rt ¥ ¥ IR A T

A)arelrser B)awraTer

C)pedrer D)erast

Answer Key : D Your Response : D (Correct)

Question No. 83
In a certain code language, 'tom na rod' means 'give me sweet', 'jo ta rod' means 'you and me', 'pot ta noc'

means 'you are good', and 'jo mit noc' N@ﬁ@%?ﬁ%m‘j’bbs.in Top

Which of the following represents 'bad' in that language?



A)jo B)rod
C)noc Allgovernmé&tibbs.in

ey faRera Fesmar &, ‘tom na rod' T Ao 'give me sweet' §, ‘jo ta rod' F Hdeld 'you and me' ¥, 'pot
ta noc' FT AdT 'you are good', 3R 'jo mit noc' & FAdelT 'good and bad' 1
3 Fearr &, fAeT F & fFaer Ade bad' §7?

A)jo B)rod
C)noc D)mit
Answer Key : D Your Response : D (Correct)

Question No. 84
Find the product of first 10 whole numbers.
A)0 B)101
C)55 D)100

g 10 qUT HE&ABHT FT IOEAGT AT AT

A)O B)101
C)55 D)100
Answer Key : A Your Response : A (Correct)

Question No. 85

Find the ODD one out from the given options.

A)KZM B)HWO

C)LZN D)FPJ

R 7w Repest 3 ¥ I F T

A)KZM B)HWO

C)LZN D)FPJ

Answer Key : A Your Response : Not Answered

Question No. 86
In a certain code, 26 stands for 'A’, 25 stands for 'B'. Which of the following stands for the name of a country?
A)11-26-16-13 B)13-22-11-26-15
C)16-26-11-14-26 D)18-19-22-12-18-26

T fARET Fesmer &, 26 w1 HAUT 'A' 8, 25 Fr 3B B’ & AeAfaf@a F ¥ Fla @r K v F A
HT A FIAT 872

A)11-26-16-13 B)13-22-11-26-15
C)16-26-11-14-26 D)18-19-22-12-18-26
Answer Key : B Your Response : Not Answered

Question No. 87
The repayment of a loan after 6 years at rate of 24% Simple Interest is Rs.73200. What is the amount
borrowed?
A)Rs.42000 B)Rs.30800
C)Rs.45000 D)Rs.30000

Allgovernmentjobs.in Top



24% |IEROT SAST A T F fAT 7T T HOT F 6 ¥ F a1G $.73200 AFT HMAT ST §1 FOT Hr IR A1

Afsrel Allgovernmentjobs.in

A)%.42000 B)%.30800

C)%.45000 D)%.30000

Answer Key : D Your Response : B (Wrong)

Question No. 88

Find the missing number in the series.

(...), 16,20, 11, 18, 6
A)14 B)22
C)15 D)17

fArfaf@a Jofr & requitya der aa RS

(.), 16, 20, 11, 18, 6

A)14 B)22
C)15 D)17
Answer Key : B Your Response : Not Answered

Question No. 89
On which of the following days does the festival of Easter fall?
A)Thursday B)Saturday
C)Friday D)Sunday

FEX @ g e & & v Qe A irar 82

A)TEAR B) erfiax
C)3[shaR D)Ifdar
Answer Key : D Your Response : C (Wrong)

Question No. 90

Find the ODD one out from the given options.

A)225 B)144

C)400 D)196

R 7w Repost 3 F I F T

A)225 B)144

C)400 D)196

Answer Key : A Your Response : A (Correct)

Question No. 91

Arrange the following fractions in ascending order.

5/9, 8/3, 7/5, 3/5, 1/9
A)1/9, 519, 3/5, 715, 8/3 B)5/9, 7/5, 3/5, 1/9, 8/3
C)1/9, 519, 7/5, 3/5, 8/3 D)8/3, 7/5, 3/5, 5/9, 1/9
Allgovernmentjobs.in Top



fArfaf@a Bt @1 IRE w7 7 cgafeya fifawl

Allgovernmentjobs.in
5/9, 8/3, 7/5, 3/5, 1/9

A)1/9, 5/9, 3/5, 7/5, 8/3 B)5/9, 7/5, 3/5, 1/9, 8/3
C)1/9, 5/9, 7/5, 3/5, 8/3 D)8/3, 7/5, 3/5, 5/9, 1/9
Answer Key : A Your Response : A (Correct)

Question No. 92
The mean of a distribution is 14 and standard deviation is 5. Find the coefficient of variation.
A)27.9% B)48.3%
C)35.7% D)60.4%

el T AreA(mean) 14 § AR A R=ers 5 ¥ fERor i A Ao

A)27.9% B)48.3%
C)35.7% D)60.4%
Answer Key : C Your Response : Not Answered

Question No. 93
How many litres of water must be added to 16 litres milk containing 10% water to dilute it with 20% water?
A)4 litres B)1 litre
C)2 litres D)3 litres

10% 9ot T 16 AT Y H Fodall Idell FA & AT 37 fohdar ey urelr e Sar =ifew, 6 fRsor &
9Tl < AET 20% 817

A)4 oliex B)1 afrex
C)2 &ex D)3 dex
Answer Key : C Your Response : Not Answered

Question No. 94
Which part of the ear turns the sound vibrations to electrical signals?
A)Cochlea B)Auditory canal
C)Pinna D)Tympanic membrane

FT FT PIeT AT 0T afer Foat r fagga Waral 3 qaerar §7?

A)FifFerar B)#aur sAferenr
C)&uarfer (Pinna) D)FuTTed! Breel
Answer Key : A Your Response : A (Correct)

Question No. 95
Which of the following will show 'Tyndall effect?'
A)Salt solution B)Sugar solution
C)Milk D)Copper sulphate solution

T & ¥ Fi9 'Rvsd wena Fr @ifar &2

A)aur-faergeT B) T faeraa

C)gyu D)#IR Tethe [aorae

Answer Key : C . Your Response : D (Wrong)
Allgovernmentjobs.in Top
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Find the missing group of alphabets in the following series.

Allgovernmentjobs.in
(...), PSV, EHK, TWZ, ILO

A)ZCF B)BEH
C)IMP D)ADG

farafaf@a Jofr & 3R & Equidya g # AT

(.), PSV, EHK, TWZ, ILO

A)ZCF B)BEH
C)IMP D)ADG
Answer Key : D Your Response : Not Answered

Question No. 97

Edible part of banana is-

A)Pericarp B)Epicarp

C)Endocarp and mesocarp D)Epicarp and mesocarp

F F G AT FEAT FAT Fgeller &2

A)®affea (Pericarp) B)sreawaiicd (Epicarp)

C)3idwafdifca 3R #ALIwaf@fca (Endocarp andD)seawaf@fcad 3R #vawafffca  (Epicarp  and
mesocarp) mesocarp)

Answer Key : C Your Response : B (Wrong)

Question No. 98
Starting from a point, Ganesha walked 12 m north. Then, he turned right and walked 10 m, he again turned
right and walked 12 m, then he turned left and walked 5 m. How far and in which direction is he now from the

starting point?
A)10 m, west B)15 m, east
C)10 m, east D)5 m, west

TS g § Y P, O Sk & 12 A Feml AR, a8 &1 3N 7337 3R 10 AT =am, a8 W F % 3R
731 3R 12 AeT =an, A a5 a1 3R F31 3R 5 e Feml I g7 IRPS Rg & frae gy 3R fra e
# 2

A)10 #Hrex, 9igs B)15 #rey, qd
C)10 #ex, q& D)5 fAex, afRas
Answer Key : B Your Response : Not Answered

Question No. 99
A boat whose speed in still water is 15 km/h goes 30 km downstream and comes back upstream in 4.5 hours.
What is the speed of water current?
A)10 km/h B)5 km/h
C)6 km/h D)4 km/h

T 19, fSFFr oaid s 3 arer 15 freveer &, 4.5 ¢ & oy i feor #F 30 el s & 3k o & f_Aeda
fem ¥ Tt aaw e ¥ arr A aAlgowERimentjobs.in Top
A)10 frefi/eer B)5 faafiveer



C)6 fral/Eer D)4 ferel/ger

Answer Key : B AI I g overnm entj dBJéF.!ﬁsPonse : Not Answered
Question No. 100

Which of the following is the world's longest venomous snake?

A)Mamba B)Coral snake

C)King Cobra D)Viper

Pt # & S a1 g 1 el ol RdeT Wi 87

A)ATFT B)YdTel Y (PRl TAeh)
C)faT ST D)EICINCIESLY
Answer Key : C Your Response : B (Wrong)
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